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QUESTION 1

An organization that extensively uses vRealize Orchestrator workflows for vRealize Automation 

integrations has the following challenges: 

Each VM provisioning request executes 50 workflows for integration with various third-party tools. 

Many developers from different teams, unaware of each other\\'s work, create and maintain the workflows. 

Whenever vRealize Automation VM deployments fail, a lot of time and resources are spent debugging 

failures. 

Which cloud management product will help speed up the organization\\'s troubleshooting effects? 

A. vRealize Operations Manager 

B. vRealize Suite Lifecycle Manager 

C. vRealize Log Insight 

D. vRealize Network Insight 

Correct Answer: C 

 

QUESTION 2

An architect is responsible for designing a new Operations Management solution for a customer. The 

customer has provided the following information about their existing VMware Software Defined Data 

Center (SDDC) environment: 

The customer uses a SaaS-Based Service Desk solution. 

The existing environment is located across two geographical regions. 

In each region, the customer already has deployed a vSphere-based virtual environment that spans two 

well connected physical locations. 

The customer has recently upgraded all of their licenses to VMware vCloud Suite Advanced subscription. 

The customer has already successfully deployed and configured a vRealize Operations 8 solution in each 

region. 

The customer would like to ensure that: 

All vSphere log events must be captured, stored locally and forwarded to a third-party log management 

solution to ensure regulatory compliance. 
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Specific vSphere log event\\'s can be captured within a region, monitored and then trigger alerts direct to the 

Service Desk which can then be assigned to regional support teams. 

Operations monitoring for all of the VMware SDDC solution can be consolidated into a single user 

interface. 

Which three recommendations should the architect make to meet the requirements? (Choose three.) 

A. Configure vRealize Operations 8.x and vRealize Log Insight 8.x integration. 

B. Configure vRealize Operations 8.x and vRealize Log Insight Cloud integration. 

C. Deploy vRealize Operations Cloud and configure Federated Analytics. 

D. Deploy vRealize Log Insight 8.x and configure the vSphere integration. 

E. Deploy vRealize Log Insight Cloud and configure the vSphere integration. 

F. Deploy vRealize Operations Cloud and vRealize Log Insight 8.x integration. 

Correct Answer: BDE 

 

QUESTION 3

Which two statements are correct for VMware Cloud Services cloud proxy? (Choose two.) 

A. It helps connect to public cloud entities. 

B. It connects cloud services to on-premises networks. 

C. An OVA deployment to an ESXi server is supported. 

D. It requires a load balancer. 

E. An OVA must be deployed on a vCenter Server. 

Correct Answer: BE 

 

QUESTION 4

Which two statements are true when considering the vRealize Automation logical design for workload storage
placement based on service levels, cost, and performance? (Choose two.) 

A. Secondary disk attached to the virtual machine resource use the same storage constraint tag as the virtual machine 

B. Storage constraint tag is applied to virtual machine resource and all the disks associated with the template 

C. vSphere tags can only be used in storage profiles 

D. Storage placement is independent of vendor when using hard constraint tags 
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E. First class disks are only supported in vRealize Automation Cloud 

Correct Answer: BE 

 

QUESTION 5

A client wants to integrate a source control system to manage and maintain the cloud templates for their new installation
of vRealize Automation. 

Which solution should be included as part of the vRealize Automation logical design? 

A. Git 

B. Subversion 

C. vRealize SaltStack Config 

D. Gerrit 

Correct Answer: A 
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